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Political Science

Paper II

TSI
gyautrent 11

Time Allowed : 75 Minutes]
Note : This paper contains Fifty (50) multiple choice questions, each carrying

[Maximum Marks : 100

Two (2) marks. Attempt A/l questions.

U SRd. @E U Wi

A : A YA TR TE (50) qguAidl TR el SA goke WAl g (2)

What happens when hierarchy in

an organization is overextended ?

(1) Organizational efficiency
increases.

(2) Lower levels are neglected.

(3) Communication becomes more
effective.

(4) Chief executive looses touch
with the bottom level.

Codes :

(A) (1) and (2) are true

(B) (2) and (3) are true

(C) (1) and (3) are true

(D) (2) and (4) are true

The scrutiny of the expenditure of

the government by the Public

Accounts Committee is effective.

Which of the following is its correct

reason for the same ?

(A) It identifies the unlawful
expenditure.

(B) Its scrutiny is based on the
report of the CAG.

(C) Its composition provides
representation to all the
political parties.

(D) It is an ad-hoc committee.

o

TEEAde USEIEET Afafied 39

eI &E B 7

(1) HoeAHs HIETHd aTed.

(2) HTS TR gel =

(3) TYEA Al TRUMHERE Tl

(4) T& wESN Afenraran siTeersh
sk TR AT

Hehdiah :

(A) (1) =0for (2) =R TR

(B) (2) v (3) =sR 318

(C) (1) ivr (3) =s” 318

(D) (2) T (4) SR TR

IMEAT HAT T dld A

THAH Shelell B TROTHSRRS 3T

Tefiedehl &M aFg SR Hivd 2

(A) 9fFdl IHERYR T« fHevim
A <.

(B) |fadi=l BM HeA @Il
STEATER SATEMRA 3T

(C) WfYdl= T 379l THd i SAHs
qd qSehiE T @ Fiaee
faea

(D) Hffdl qegeedl EwarE] 3TEd.
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Which one of is the characteristic

of post-behaviourism ?
(A) Quantification
(B) Relevance

(C) Value free

(D) Pure science

Which of the following is the
correct description of India’s federal

system ?

(A) A classical federal system
(B) A cooperative federal system
(C) A three-tier federal system
(D) A liberal federal system

Which one of the following is not

separatist movement ?
(A) JKLF

(B) ULFA

(C) PLA

(D) Naxalism
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Which of the following statements

is correct ?

(A) Collegium system of the
Supreme Court has been
introduced by the Act of

Parliament.

(B) Collegium system has been
introduced by Government

Resolution.

(C) Collegium system has been
already incorporated in the

Constitution.

(D) Collegium system has been
created by the judgement of
the Supreme Court without

constitutional mandate.

What is reason of recent conflict

between executive and judiciary ?

(A) On the issue of appointment of
judges in the High Courts

(B) On the issue of appointment of
judges in lower judiciary
(C) On the issue of hike in the

salary of judges of Supreme
Court

(D) On the issue of protection of
judges of Supreme Court and
High Courts
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Which one of the following
statements is correct ?

(A) Judicial Activism means an
encroachment on the powers of
executive by Judiciary

(B) Judicial Activism means
judicial excess

(C) dJudicial Activism is an inherent
power of the judiciary while
interpreting law

(D) dJudicial Activism is curtailment
of the power of states

Which one of the following
statements is correct ?

(A) National Judicial appointment
commission is working as per
the Act of Parliament

(B) National Judicial appointment
commission has been declared
unconstitutional by Apex
Judiciary recently

(C) National Judicial appointment
commission was appointed by
President of India as per
constitutional provisions.

(D) Even after striking down the
law of National dJudicial
appointment commission by
Supreme Court, the said
commission is still functioning
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10.

11.

Which of the following is correct

about Elections ?

(A) Elections in India provide the
opportunity for the widest
degree of popular porticipation
and for genuine competition

between political groups

(B)

Elections encourage political

violence

()

Elections empower women

voters
(D) Elections maintain status quo

Which one of the following national
political party was instrumental in
introducing economic development
programme i.e., Zamindari abolition,
land reforms, cooperative farming
and compulsory primary education

ete.

(A) Parties in UPA Alliance at the

centre

(B) Congress Party (INC)

(C) Bhartiya Janata Party along

with NDA Alliance

(D) CPM & CPI (Leftist Parties)

10.

11.
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12.

13.

14.

Who used the term Single Party
Dominant System prior to 1967
politics ?

(A) Norman D. Palmer

(B) Subhash C. Kashyap

(C) W.H. Morris & Rajani Kothari
(D) M.V. Pylee

Which one of the techniques is not

used by pressure group ?

(A) Framing of draft bills with skill

and expert knowledge

(B) Lobbying to influence

government policy

()

Securing nomination and

elections of sympathetic

legislators
D)
Which one

authority for controlling and

Election campaign for candidate

is the regulatory

regulating print media ?

(A) Ministry of Information &

Broadcasting
(B)
(®)
(D)

Press Council of India
Election Commission of India

Comptroller & Auditor General
of India (CAG)

12.

13.

14.
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15.

16.

Which one of the following is not a

peasants movement ?

(A) Champaran Movement (Bihar
1917)

(B) Khera Satyagraha (1918)
(C) Chipko Andolan
(D) Bardoli Satyagraha
Which one of the

statements is correct ?

following

(A) Of the four pillars of the

Constitution, the election
commission is one, the three
being the Supreme Court, the
Public Service Commission and
the Comptroller and Auditor

General of India

(B) Of the four pillars of the

Constitution, the election
commission is one, the other
three are Media, Political

Parties and the Supreme Court

(C) Of the four pillars of the

Constitution, the election
commission is one, the other
three are legislature, executive

and judiciary

(D) None of the above

15.

16.
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(A) TR Ted (faer 1917)

(B) BB FaWE (1918)

(C) ol sTcIeH

(D) SRS g
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17.

18.

Consider the following statements
about decentralised planning and

select the correct code :

() Decentralised planning is

bottom-up planning

(i7) It is undertaken at the grass

roots level
(111) It ensures peoples’ participation

(zv) The 73rd and 74th constitu-

tional amendments made

decentralised planning

mandatory in India.
Codes :
(A) (1), (1D) correct, (i), (iv) incorrect

(B) (1), (1) are incorrect, (i11), (iv) are

correct
(C) (1), (ip), (111 and (1v) are correct

(D) (1), (i1, (i) are correct, (iv) is

incorrect

Who was the first to coin the word

‘Bureaucracy’ ?

(A) Max Weber

(B) Vincent de Gournay
(C) Gaetano Mosca

(D) Thomas Carlyle

17.

18.

JAN - 15218/I1—B

forgia farsEeet Tmea faum
foemma =1 enfor 9ra Sehaie e

(al o

() fodhsia FESH e sR9d %ol
S

(7)) Tomgia TN TeoudaaRd
S

(i) Tosdia ST AhegyTTt
T THead.

(fv) 7331 AU 74391 SRAGEE
faengia A SeehReh el 3T

ﬁiﬁ?l'l%ﬁ $

(A) (d), (i) SR 3T0Rd, (id), (iv) I
e

B) (1), (i) I% 3T|%T‘I, (111), (iv) ERIEES
3R

(C) (1), (D), (ifD), (iv) TUSR 3T
D) (2), (D), (i) IR A, (iv) Th
3R

THWME! (Bureaucracy) 3l BRI
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19.

20.

Which one of the following principles
of organisation requires that every
member of an organisation should
report to one, and only one leader

‘superior’ ?

(A) Span of Control

(B) Unity of Command

(C) Integration

(D) Decentralisation

The importance of a comparative

19.
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TRt IOl HeEA=AT TR

TEEAdel Yoish 9YE hdes Tehld

STTOT Thek] UehT=l SICS3TeT STT9edT ST

TeUld TaEER A Tfes 3™ HHA
e ?

(A) T e
(B) = U

(C) ThETehTu
(D) TashgiaT

20. WIATIUeh! Shived faemEan TemE-T=n
a h to Public Administrati
pproach to Public Administration - - g -
was first emphasised by whom of the
e ?
following ?
' (A) IS faesq

(A) Woodrow Wilson
(B) L.D. White (B) w2l =Ee
(C) Robert Merton (C) Uad e
(D) Frederick Taylor (D) Hefle TR
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21. List-I below gives some Models/ | 21. el foeiel ai-1 9 e wfaam/
Theories of Conflict Resolution and fagid <viad i Ict-11 743 &= oesh
List-II gives the author of the Model/ feet 3Ted. Iel-1 A1 Iel-11 31 I
Theory. Match List-I and List-IT and TR Se3ad et feeied Fehdaimed ard
select the correct answer from the It ferer -
codes given below : -1

List-I
® (e foramr
(Models/Theories in .
gt/ fagia)
Conflict Resolution) . )
() i U
(1) Conflict Prevention
() =R SO iqEe
(1) Four Worlds Model -
(11) Relative Deprivation i) . ‘
. . . (7v) Toe gfEda
(zv) Conflict Transformation
List-IT 11
(Authors) ( )
(a) Ted Robert Gurr (a) 2T T R
(b) John Galtung (b) S T
(¢ John Burton (0 <M &
(d) Dennis Sandole (d) fr |
Codes : Tehdieh :
() G D) Gy (1 ) (1) (v
A b @ (@ (o A (b (@ (a (O
B o @ (@ W B) (o0 (@ @ Wb
©C) (@ (@ Wb (o C) @ (@ W (o
D) (o0 (@ (d b D) (o0 (a (@ b
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22. Which of the following is a correct

statement with regard to Indus

Water Treaty of 1960 between India

and Pakistan ?

(A)

(B)

(®)

(D)

Under the treaty India is
allowed to share 20% of water
of the six rivers flowing from

India to Pakistan.

India 1is restrained from
building any dams on the six

rivers.

The treaty was suspended
whenever there were wars or

serious tensions on the borders.

The treaty can be revoked only

through mutual consultation.
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22. RA-UIh&d™ ST 1960 HEY STeTedl

TS U HIEE) Wielie faemiient

g faue g e ?

(A) T I ARARA TTeh RaTTHEd

STRUT=T HaT FedT YT Rl 20%

o BT A
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LTI Sl 3R.
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23.

24.

Arrange the following events related
to global environment in correct
chronological order and choose the
correct answer from the codes given

below :

(1) Doha Conference
(i) Paris Agreement
(ii?) Kyoto Protocol
(7v) Earth Summit
Codes :

(A) (), (4w, (1), (i)
(B) (w), (i), (1), (i)
(C) (), (av), (1), (1)
D) (1), (1), (1v), (i)

The Global Competitiveness Report

is prepared by :

(A) World Economic Forum
(B) World Bank

(C) IMF

(D) Asian Development Bank

23.

24.
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Hehawmgd g v fHaer
() TR FHeR

(i) W W

(izi) FRE AN

(1v) gt TR ufte
Hehdich :

(A) (1), (4w), (1), (11)

(B) (w), (), (1), (1)

(C) (D), (aw), (1), (iD)

D) (D), (2, (1v), (i11)

‘TAled Shifgeldieetd e’
ER TIR H{0I ATl 3T,
(A) SIfder STfefer |

(B) wIMifaer &
(C) TSI AR
(D) NfIrmn faer o
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25. Which of the following statement/s

is/are correct ?

(1) Special UN Fund for Economic
Development (SUNFED) was
established in 1957 to give
financial assistance to the third

world countries.

(i1 SUNFED could not achieve its
goals mainly due to cold war

politics.

(zz1) In 1965, SUNFED was replaced
by UNDP, which became a
subsidiary organ of UN General
Assembly.

(iv) North-South politics became
a power struggle based on
strategic issues and not on

developmental issues.

Select the correct answer from the

following codes :

Codes :

(A) (0, (i), (i1 are correct
(B) (i1, (if1), (iv) are correct
(C) Only (1) is correct

(D) Only (iv) is correct
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95. WleteTdeh! hivd faem/faam sReK

e ?

(1) 1957 9 TEIA I.UA. He TR
SRS Seeauiie (SUNFED) <t
T fae=a STt <9 effefen

qed QUATEIS STl

(i) SUNFED viiaggehiei TSTehrom-
THob Tl M WA & kel
&l

(i) 1965 A& SUNFED =a1 STl

UNDP g& {0I1d 3ATel, S §IoK

e SHENS §H ST da

(7v) SR-gfeor TR § fawmdcas
HEIilast SEvarcHEd  qEaiay
sMeTid &< wee S

TeAe HehdishHe[ ara qarg faer ¢
Hehdich :

(A) (2, (1), (if) S e

(B) (i), (7id), (iv) SI&R TR

(C) ek (jzi) SIeX 3T1ed

(D) %K (iv) SE 3TRd
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26. List-I below gives names of some

Indians, who served on some UN
bodies given in List-II. Match the
two lists and select the correct
answer from the codes given
below :

List-I

(Indian)
(1) Hansa Mehta
(i) Vijayalaxmi Pandit
(111 Nagendra Singh
(zv) Vinod Rai

List-1I
(UN Bodies and the Post)

(a) Chairman of UN Panel of
External Auditors

(b) Member of Drafting Panel of
UN Declaration of Human
Rights

(¢) President of 8th Session of UN
General Assembly

(d) President of International
Court of Justice

Codes :

(o (@ ) (v
A) (@ (@ b (o
B) (b (@ (@ (0
© (o (@ Wb (a
D) (b (0 (d (a
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T ST ARI-11 7ed @it ue et el

STl e A J2aed e Tl

feied Gehdielqd ae 999 faer -

Tet-1
(W)

() &H Hea

(1) TosmEm@edt dfed

(i) THIg T&m

(7v) fodig =
aret-11

(Vg TErdiet ue)

(a) FIF TIAT d@d ACITCT=

i 279

(b) TIFI TS AHATHHR S ELATTE

ST WiEd TeAe

(0 TgFd T AHEI=A 841 AN
ey

(d) STRASET =TI 31egel
Hehdiah :
() () (v)
A (@ (@ Wb
B) b (@ (@ (O
© o (@ Wb (a
D) b (o (@ (a
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27. Choose the Iincorrect statement

regarding propositions of Dependency

Theory :

(A)

(B)

()

(D)

Developing/underdeveloped
countries do not exist in
isolation. They can only be
understood in the context of

world economic and political

system.

The relationship between core
and periphery countries is
for

disadvantageous core

countries.

As long as capitalism remains
the dominant world economic
system there is no reason for the
situation of developed and
underdeveloped countries to

change.

Poor states are impoverished
and rich ones enriched by the
way poor states are integrated

into the world system.

JAN - 15218/I1—B

97. Woieiueh! ercis = fagr=an Seyid

wehid foum sieen :

(A)

(B)

(®)

(D)

EEREHIGIEICEI IR R U]

fedcaTd HAT. T SHHHl Al

Srfass sTrfefer o1for U9

T HEHIA TS AT A
%3 oMo ufiemada qenwEia
HaY B haldiel QeEe! dredrd

SINNIGH

EIEEGEE I EE KNI IS iU R ED
AfaEdme) gt T draedd
Toenfaa stftr stdfaertaa Teammea
Rfeerdt HuvATeR wERar AR

TR TS STATIeh SHAEIHE SATIehR

HHEE S TgH e TS
afad W 9 sig T sifue
S gra.
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28. Match List-I with List-II and select
the correct answer from the codes

given below :
List-I
(a) Media and Friends
(b) Centre and Periphery
(00 Input and Output
(d) Family and School
List-II
(1) Systems approach
(2) Political socialization
(3) Political communication
(4) Dependency theory
Codes :
(@ (b (o (d
A @ @ @O @
B) 8 @ @O @)
© @ O @ 3

D 1) 2 B @
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28. IRI-1 9 ARI-11 =1 Arg Siedn Seod
st fooiean Sehaygeqd dra 99t

(2) wegw o fasafEr
(b) g emfor afw
(¢ 3ARH oTfu Y™

(d) F2a M0 el

(1) Haeern gieshH

(2) TSR HTHITSTOR [ LU]

(3) TSI Tg=H
(4) TEceAEn g
Hehager :

@ b (o (@
A 6 @ @O @
B 3 @ @O @
© 2 1 @ B

O O @2 @ @
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29.

30.

Match List-I with List-II and select
the correct answer by using the codes
given below :

List-I
(a) Capitalism, Socialism and
Democracy
(b) Capitalism and under-

development in Latin America

()

Capitalism in the age of
globalization

The Modern World System
List-1I

Andre Gunder Frank

Samir Amin

(d)

(1)
(2)
3)
(4)
Codes :

(a)
(A) (4)
B) )
C) 3
D) 2)

Joseph Schumpeter

Immanuel Wallerstein

()
3)
(2)
1 2 @
4 @O @

Which electoral system is used in
USA and Britain to elect members
of Legislature ?

(o
(1)
(1)

(d)
(2)
(4)

(A) Simple plurality vote
(B) Alternative vote
(C) Proportional Representation

(D) Single transferable vote

29.

30.

JAN - 15218/I1—B
-1 3o At-11 =0 Ara et Sesa
sty fooien Hohage=iqd Ira
IREEIE

-1
Ffufergm, detfergm e SalhH
wfefagm ofe TstSwmaude
3 oifed sHfehT
Ffudfaga 39 T S AW

SIERIRENE]

(d) T Hfed e fawd
Trar-11

3% TR T
iR a1fm
(3) SIE® YU
(4) THYSA A=A
Hehaqel :

(a) (D)
(A) 4) 3)
(B) 3) (2)
) 3 1 @2 @
D 2 @ @O 3
FECHE A=A Tee= Fasiand STt
3Tt Je foremed Fivrht FHaeus gt
I S ?
(A) 91E §gHd
(B) w3k w7
(C) g gfdffere
(D) THA HFHAUE HHA HAGH

(a)
(b)

(0

(1)
(2)

(o)
(1)
(1)

(d
(2)
(4)
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31. Match List-I (Treaty) with List-II
(Year) and choose the correct

code :
List-I
(Treaty)
(a) Treaty of Westphalia
(b) Treaty of Utrecht
(¢) Treaty of Paris
(d) Peace Treaty of Versailles
List-II
(Year)
(1) 1713
(2) 1814
(3) 1919
(4) 1648
Codes :

(@ b (o (@
@ @O 2 & @
B) @ G @ @
Cc @ 1 2 B
D @ 2 @O O
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31. -1 \efa wu=l aci-11 qeid
aer
Tret-1

()

(2) A=HIAIET FIR

(b) JU R
(0 URE X

(d) <g9F=ET vadal iR

-1
(ar)
1) 1713
(2) 1814
(3) 1919
(4) 1648
Hehdiah :

@ b (o (@
@A O @ @ @
B @ B3 @2 @
© @ @O @ 3
O @ @ @O 3
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32.

33.

When the ‘Uniting for Peace’
resolution was adopted by the UN
General Assembly ?

(A) 1961
(B) 1951
(C) 1950
(D) 1952

Match List-I with List-II and select
the correct answer from the codes
given below :

List-I
(a) India in Transition
(b
()

(d)

My Picture of Socialism

My Experiments with Truth

Annihilation of Caste
List-1I

(1)

(2)

Jai Prakash Narayan
Babasaheb Ambedkar
(3) Manvendra Nath Roy
(4) M.K. Gandhi
Codes :
(a)
(A) (4)
(B) 3)
(ONE)
D) (2)

()
(2)
(1)
(2)
(1)

(o)
3)
(4)
(1
(4)

(1)
(2)
4)
3)

32.

33.
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TR AT STHANA  IMAHST THS

o’ froi=l IR <hoal el ?

(A) 1961
(B) 1951
(C) 1950

(D) 1952

Trefidl FRral aT wed ARI-1 37
I -11 At Feehi=Al St Sesal o
fecTedn Hehdrenmyd Ara g et :
Tret-1
AR M-S W 2
T iR e Sefeierd
Y TEIHed fag 2
oM 3 e
arer-11

STIYRRT AN

(a)
(D)
(o)
(d)

(1)
(2)

TS STTASHT
(3) WY WA
(4) THH. T
Hehdiah :
(a)
(A) 4
(B) 3)
€ 3)
D) (2)

(D)
(2)
(1)
(2)
(1)

(0
(3)
(4)
(1)
(4)

(1)
(2)
(4)
3)
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34.

35.

36.

The most essential feature of Federal

Government is :
(A) Supremacy of Judiciary
(B) Supremacy of Parliament

(C) Division of powers between the

Federal and State Government
(D) Local Government
Political Science is a discipline :

(A) Which does not subscribe to any

values

(B) Which provides value-free

analysis
(C) Meant to study values
(D) That cannot ignore values

Which of the following countries has
adopted the method of amending the

constitution by a popular vote ?
(A) UK

(B) U.S.A.

(C) Switzerland

(D) India

34.

35.

36.
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a N d AN [
LCININEE RS NS IS EEFC RIS EIN

AT aAfyreg oA ?

(A) <TIAIE T A3

(B) HHeH HIASH

(C) ToETEa STfu] TSIeme A=A
AfpR fa9mToft

(D) Trfeh QTETEE

TIEME & Tk i focumemen o1g

(A) FIUATE FeAa IR Hhid el

(B) Hea-fue fogersmn Iqetsy e
3d

(C) T S STEwash HFd
(D) Yuhe TAW HE Iehd ATl

SECE RN CE IR ER R EE E MY

FHIOITA TEHAET STaAd e erieh]
SHIUCAT QM hell Sl 2

(A) Foe

(B) 3ttt

(C) s

(D) Y9Ra
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37.

38.

By which of the following methods
the American federation was

formed ?

(A) Legislature

(B) The Act of Senate

(C) A voluntary agreement

(D) By revolution

Which one of the following
political theorists made a clear
distinction between two levels of
superstructure (a) Political society,

(b) Civil society ?

(A) F. Engels

(B) Mao

(C) Gramsci

(D) Lenin

37.

38.
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AT gerear=l fAfddt @it

HIUT AT A 3T 2

(A) FEHSHZR

oo

(B) foe=a saeagn

(C) W=1 HIL Hed

(D) Shidr=n |rTH

(37) TSR TN, (§) AR 99 A

TIE WA WaRH GlEAHETA 9T

EATeTdeh! hIvcl TSThd g™

Hal AR] 2

(A) Th. TSeH

(B) =el

(C) umEt

(D) <
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39.

40.

Which one of the following

philosophers is associated with

Egalitarian Liberal Theory of

Justice ?

(A) Immanuel Kant

(B) John Rawls

(C) Robert Nozick

(D) T.H. Green

The Joint River Commission

constituted in 1972 was expected to

solve the water dispute between :

(A) India and China

(B) India and Bhutan

(C) India and Bangladesh

(D) India and Nepal

39.

40.
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T FHATYSSId SERATAR] (HGarit

EATIUeh! IOl deaa Geied 378 ?

(A) THIA wie

(B) SiH Uew

(C) Uad ifgreh

D) 4= 7=

1972 HefTel g &1 TR Weiierieh!
HITAT IINHEHA TTONEes Wrequl

sruferd gid 2

(A) 9 st ==
(B) WRd 301 9™
(C) ¥Rd oMo SRy

(D) YRG 37T 4res
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41.

42.

Which of the following a group
of contemporary political thinkers
staunch of

are supporters

communitarianism ?

(A) Rousseau, Hegel and Green

(B) Berlin, Hayek and Milton

Friedman

(C) Adam Smith, John Locke and

Jeremy Bentham

(D) Michael Okeshott and Hannah

Arendt

Who is the author of the following
statement “traditional political theory
is the production of the turmoil that

characterise past ages” ?
(A) David Easton

(B) Germino

(C) Cobban

(D) Lipset

41.

42.
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[al N N (a o
Cllctlictean] anlYIdl dHenlelld sien (4

foraRadTa e FHQEaRTEl el THH

T AR ?
(A) &I, g7 At WA
(B) feid, & omfor faeed weesaa

(C) ey fmy, | o STfor SRHt

RO

(D) HEhel (Tl 0T &8 3=

“qruifter e fagma SAdTaee=
Tt o9 3 Ydhler 90 i &l
faur= @ w2

(A) SHIE TH=A
(B) IfHE+
(C) =hleA

(D) ferode
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43.

44.

Match List-I with List-II and select
the correct answer from the codes

given below :
List-I
(a)
(D)
(0
(d)

Bureaucracy

Dependency Theory

Elitist Theory

World System Theory
List-1I

(1) Vilfredo Pareto

(2) Immanuel Wallerstein

(3) Samir Amin

(4) Max Weber

Codes :

(a)

(A) (4)

(B) ()

(ONE)

D) (2)

(D)
(3)
(2)
1 2 @
4 @ @

Which one of the following is not the
characteristic of behaviourism ?

(0
(1)
4)

(d)
(2)
3)

(A) Regularities

(B) Verification

(C) Value-neutrality
(D) Action

43.

44.

JAN - 15218/II—B
IEI-1 9 ARI-11 =1 A Siedn Seed
o et Fehageiqd ag 9ba
ferer .

arer-1
RIESHIE]

qrercteqTal fagr

(a)

(D)

(0

(d) Smfae e g
FTE-11

faethe 9@

YA AfeEA

(3) Wi sfa

(4) HerH X

Hehagel :

(a) (D)
A) 4 3)
B) 1) @)
€ 3 1 2 @

D) 2 @ ) @

TTeATaTdsh! hiv df¥rsed adaR™
T ?

(A) aRERA

(B) Tdresuil

(C) Hoa qe&da

(D) e

AfYSTHaET fagT

(1)
(2)

(0
(1)
4)

(d
(2)
3)
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45. Match List-I with List-IT and select

the correct answer by using the codes

given below the list :

(a)

(b)

(0

(d)

(1)

2)
3)
(4)

List-I

Traditional approach to the

study of Comparative Politics

Systems approach to the study

of Comparative Politics

Structural-functional approach
to the study of Comparative
Politics

Marxist approach to the study

of Comparative Politics
List-II

Interest Articulation, Interest

Aggregation
Eurocentric, Normative
Input-Output-Feedback

Economic aspects

Codes :

A 3
(B) )
©)
D) (2)

(@ (D)
(2)
(1)
(2)

3)

(0
(1)
(2)
(3)
(1)

(d)
4)
(4)
4)
(4)
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45, IEI-1 S ARI-II =0 IArT Sedl

S 3101 feeiean Hendg=iqa A qar

(a)

(D)

(o

(d)

(1)

(2)
3)
(4)

ret-1

qcTdTcHer ST TIUT=AT ST

TRUReh e

qAATcHeh (ST IUT=AT AT
I § S

qAATcHe ST TUT=AT AT

TS - hTACHe  GIeeh™

qcTdTcHer (ST TIUT=AT AT

HleRaTel gfteshid
arer-11
feaqgaeems afasnu, feagsem
FATeha!, FeATasd
AEH-HEH- TG

affefsr oeeh

-
-
.

A 3)
B) 3)
© @
D) (2)

(@ (b
(2)
(1)
(2)

3)

(o)
(1)
(2)
(3)
(1)

(4)
(4)
(4)
(4)
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46. Match List-I with List-IT and select

the correct answer from the codes

given below :

(a)
(D)
(©
(d

(1)

2)
3)

(4)

List-I
Gabriel Almond
Karl Deutsch
Daniel Lerner
Lucian Pye

List-1I

Social mobilization and Political

Development
Aspects of Political Development

The Politics of Developing

Areas

Passing of Traditional Societies

Codes :

(A) (2)
(B) 4)
©)

D) )

(a b (o

@) @ @

2 @O O

4 B @

1 @ @
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46. Ir-1 offor Ici-11 =0 arg Siredl

Segel S0 feciea HehagaHygH A q

(a)
(b)

(D

2)
3)
(4)

T ifecied 31 SeeaTdi TS

e Ak SfevHa Srmet

-
.
.

(A) (2)
B) @
©)

D) 3)

(a b (o

@) @ @

2 @O 3

4 B @

1 @ @
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47.

Give the correct answer by using the

codes given below :

Assertion (A) :

Legitimacy is the right and
acceptance of an authority usually

a governing law or a regime.

Reason (R) :

Authority denotes specific position

in an established government.

Codes :

(A) Both (A) and (R) are true and
(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (R) is true but (A) is false

JAN - 15218/I1—B

47. TTed Shagard TR HEd g IW

T o
fagm (A)

AT TeuTSt STferdRrEn AR oy
THR  (HIHTEROTYE IEATE SISl

fopa Tstere A=t 2AfwR).

T (R)

e RN TEefid AR T
fafere W

Hehaget :

(A) T (A) Mo (R) sRIsX TR

anfor (R) ® (A) = Img TRt
3R

(B) Il (A) 37for (R) sieR TR
Uit (R) ® (A) & I8 TR0
BIE]

(C) (A) T IR 7% 997 (R) I 378

(D) (R) ¥ IR TR 90T (A) I 38
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48. Give the correct answer by using the

codes given below :

Assertion (A) :

Narendra Modi has more power.

Reason (R) :

Narendra Modi is the Prime Minister

of India.

Codes :

(A) Both (A) and (R) are true and

(R) is the correct explanation

of (A)

(B) Both (A) and (R) are true but
(R) is not the correct explanation

of (A)
(C) (A) is true but (R) is false

(D) (R) is true but (A) is false
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48. Eeliel foeies Hehaege= TR e ard

STl WAl e

fagam (A) :

g AR e T TR,
Ut (R)

Hehagett :

(A) TR (A) enfor (R) SR 3R

M (R) ® (A) = I ARl

Sl

(B) <=4l (A) 3mfor (R) ssX 378

™I (R) T (A) o I TR

BIE|
(C) (A) § IR 3Tg 907 (R) I& 38

(D) (R) T SR 378 U (A) T 318
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49.

50.

According to David Easton Political
System has certain key aspects.
Identify the correct aspects :

(1) Political system is just one
among other forms of social

system.

(i) Political system allocates by
means of policies.

(D) Its
authoritative.

allocations are not

(iv) Its allocations are not binding
on society.

Codes :

(A) (1) and (i1 are correct

(B) (i) and (z11) are correct

(C) (1), (1) and (z71) are incorrect
(D) Only (iv) is incorrect

Which of the following sets of
values emphasised by the classical
model of Public Administration is
challenged by the New Public
Management ?

(A) Rationality, hierarchy,
centralization

(B) Professionalism, efficiency,
economy

(C) Decentralization, governance,
accountability

(D) Communication, leadership,
authority

49.

50.
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2dle S I Hd USIhig SHaed=t
FIE FAYd ATl STa. A afiTse
MBE

() TSThE T & Ak IS
TALATALTA Hdes Teh HIaLe

3TTE.

(i) RO AEAANA TSTehd SFaeel
oo .

(i) TSR FILU Shad  fadion
SRR T
(1v) TSToh 1 SHaEEH shetel faaor GHTSTER

ERECarcle e
Hehage
(A) (1) 3T (f7) SR 3T
(B) (i) 3T (77) =R 3T
(C) (D, (i) W0 (if) I TR
(D) Hda (iv) THh R

AHIIMTEA=AT AT YTEUR WX

o

foied IV Jed T AT AT

T FoEd fag=m efeeq feo
e ?

(A) Ifchehdl, TSEMITALEH], Harehiol

(B) AOEIfEehdl, SIH&Hdl, ShIShT

(C) Taagienton, ITETTeRR, SElaw

(D) §Y=H, 7q, SR
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ROUGH WORK
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